
FRAME PLATFORM KIT LIST

SYNAPSE Hi-MOD/CARBON
19

KP301/

Shimano Code No.
Y7ET98030

KP017/

KP302/

KP299/

QC616/

KP298/

KP298/X

KP269/

KP304/

KF103/

KP203/

KP300/

KP018/ - ceramic
KB6180/ - standard

C4FLHS30BLK  
C4FLHS30WT  
C4FLHS30BZ 

30mm

KP224/

KP156/

KP157/
12.5mm

KP318/

140 mm
ADAPTER

  

KP318/160

160 mm
ADAPTER

M6X1.0X20

M5X0.8X16

M6X1.0X20

6mm
Loctite 242 (blue)
6 Nm (53 InLbs)

KP158/
1.1 Nm, 10 InLbs
Loctite 242 (blue)

KP010/
73mm

M6X1.0X20

M6X1.0X20

FORK RIM DISC
KP017/ KIT COMP ASSY 23 6ID EXPANDER X X

KP203/ KIT HEADSET NEW SYNAPSE CRB / 
SUPERSIX EVO CRB  (CONTAINS KP156/) X X

KP156/ KIT, CROWN RACE, SYNAPSE CRB X X
KP157/ KIT BRAKE BOLT 12.5MM X
FRAME RIM DISC
KP158/ KIT DER HANGER RD X X
KP224/ KIT GUIDE BRAKE H-TUBE X X
KP298/ KIT DI2 SYNAPSE PLUGS BB COVER X X
KP298/X KIT, DI2 SYNAPSE PLUGS BB COVER
KP299/ KIT SYNAPSE BB CABLE GUIDE MECH. X X
KP302/ KIT DROPOUT CABLE STOP (20X) X X

KP318/ Kit synapse crb disc brake 
adapter 140 mm rotor X

KP318/160 Kit synapse crb disc brake 
adapter 160 mm rotor

KF103/ KIT GUARD SCUFFGUARD 8PK X X

Seatpost RIM DISC
KP300/ KIT SYNAPSE SEATPOST WEDGE ASSY. X X
KP301/ KIT SYNAPSE WEDGE COVER (10X) X X
KF115/ KIT GEL DYNAMIC CARBN SEATPOST X X
BOTTOM BRACKET RIM DISC
KB6180/ KIT BEARING BB SI 2PCS X X
KP018/ KIT BEARING BB SI CERAMIC 2PCS X X
QC616/ KIT CIRCLIPS (2)  BB SI X X
KP010/ KIT ADAPTER SIBB TO 73MM BSA X X
TOOLS RIM DISC
KF368/ KIT TOOL SIBB/73 ADP INSTALL X X
KF366/ KIT TOOL SI BB ADAPTER EXTRACT X X

Head tube Upper 1'1/8" Campagnolo Hiddesenst, lower 1'1/4"

BB Shelll width BB30A - 73mm

Seat post Diameter 25.4mm

Front Derailleur Braze-on

Rear Disc Brake Post mount 140/160mm ONLY

Dropout Spacing 130mm /Disc RR:135 

Intended Use ASTM Condition 1, High-performance Road

Minimum Seat Post insert 90mm

Maximum weight Limit (Lbs/Kg) Rider LUGGAGE* TOTAL

* Seat bag only 275/125 10/4.5 285/129

FRAME RIM DISC
KF367/ KIT CH STAY PROTECT SYNAPSE X X

C4FLHS30BLK 
C4FLHS30WHT 
C4FLHS30BZ

HEADSPACER LIGHT  
BLACK, WHITE OR BRONZE X X

Retailer Service:  scandinavia@cyclingsportsgroup.com / portugal@cyclingsportsgroup.com   




